
 

 

     

 
                  
 

           

       

       

       

       

       

       

       

       

       

       

       

 
 
                                   

 
                        

                              

 

                         

                

                      

                         

                              
 

 
 

                              
 

          
                
                    
                  
            
      

             

Sublist 7 Exercises 
1) Complete the table with the correct part of speech. 

Noun Verb Adjective (+ negative) Adverb 

adapt N/A 

convert N/A 

innovation N/A 

priority N/A 

prohibitively 

denied N/A 

disposal N/A 

equipped N/A 

N/A ideologically 

Submit 

transmission N/A 

2) Complete the following sentences with a word from the box. You may need to change the grammar. 

empirically classical paradigm couple aid finite intervention 

a) Her injuries mean that she is no longer able to walk _________________. 

b) Scholars have found similarities between the movie Star Wars and characters and situations in __________ 

mythology. 

c) Lack of rain ____________________ with high temperatures caused the crops to fail. 

d) These results are supported ________________________ by several studies. 

e) The earth only possesses ____________________ resources, which will eventually run out. 

f) He was establishing his reputation as a scholar when the war _______________________. 

g) Writing instruction in the last ten years has been shaped by two __________________ ‐ shaping theories. 

3) Choose the correct word from the list on the left to go with each meaning. 

1. adults 
2. channel  way of communicating 
3. decade  no involvement with other countries 
4. equipment  systems of sending information 
5. isolationism 
6. media 



 

 

 
  
             
                    
                      
  
  

 
 

                             
 
 

 

  

  

  

 

 

 

 

  

7. confirmation 
8. elimination 
9. guarantee 
10. mode 
11. phenomenon 
12. thesis 

 removing substances 
 something that happens in nature 
 a particular way of doing something 

Sublist Seven– this list of words contains the seventh most‐frequent words in the Academic corpus 

adaptation empirical phenomenon 

adults equipment priority 

advocate extract prohibited 

aid file publication 

channel finite quotation 

chemical foundation release 

classical global reverse 

comprehensive grade simulation 

comprise guarantee solely 

confirmed hierarchical somewhat 

contrary identical submitted 

converted ideology successive 

couple inferred survive 

decades innovation thesis 

definite insert topic 

deny intervention transmission 

differentiation isolated ultimately 

disposal media unique 

dynamic mode visible 

eliminate paradigm voluntary 



 

 

                    
 

           

         

         

       

       

       

       

         

         

       

       

       

 
 

                                  

 
 

                        

                              

 

                         

                

                      

                         

                              
 
 
 

                              
 

          
                
                     
                   
            
      
 
 

             

1) Complete the table with the correct part of speech. 

Noun Verb Adjective (+ negative) Adverb 

adaption/adaptation adapt adaptive (non‐adaptive) N/A 

convert/conversion convert converted (unconverted) N/A 

innovation innovate innovative N/A 

priority prioritise prioritised N/A 

prohibition prohibit prohibitive prohibitively 

denial/denier deny denied N/A 

disposal dispose disposable (indisposed) N/A 

equipment equip equipped (unequipped) N/A 

ideology/ideologue N/A ideological ideologically 

submission/submissiveness submit submissive submissively 

transmission transmit transmittable N/A 

2) Complete the following sentences with a word from the box. You may need to change the grammar. 

empirically classical paradigm couple aid finite intervention 

a) Her injuries mean that she is no longer able to walk unaided. 

b) Scholars have found similarities between the movie Star Wars and characters and situations in classical 

mythology. 

c) Lack of rain coupled with high temperatures caused the crops to fail. 

d) These results are supported empirically by several studies. 

e) The earth only possesses finite resources, which will eventually run out. 

f) He was establishing his reputation as a scholar when the war intervened. 

g) Writing instruction in the last ten years has been shaped by two paradigms ‐ shaping theories. 

3) Choose the correct word from the list on the left to go with each meaning. 

1) adults 
2) channel  way of communicating
 
3) decade
  no involvement with other countries 
4) equipment  systems of sending information
 
5) isolationism
 
6) media
 



 

 

  
              
                    
                        
  
  

7) confirmation 
8) elimination  removing substances 
9) guarantee  something that happens in nature 
10) mode  a particular way of doing something 
11) phenomenon 
12) thesis 


